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The Analysis of the Amenity in Commuter Trains
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Recently it is often said that the congestion in commuter trains decreased because of the decrease in

the population. But it seems that passengers don’t think so.
| guess passengers in commuter trains are satisfied with various things because of the diversification of

their sense of values. Similarly they need other services, | think.

So | sent out questionnaires to analyze what they were particularly satisfied with and what kind of
service they need. | analyzed the result and | considered whether the improvement in other factor satisfied

them if it is difficult to decrease the congestion.
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